SEERT

AR EBE

MAERHE,

WETEEXEICH T2, DNAEEOEBEENET B
TSEITERLTWS,

X4 4 BFT [E1# HE ==

A% A o . st %i;iﬁ%“_
BYANERER S bl —=
MR R UIME SR e bt B —=

BEHERSE & RIEE HE

FALy k== 28,000 B2
FHEARR 18U/, 10f5H 18 EHRRE
R = R A 11" 72004\ Y EEPN ifggiﬁﬁﬁ BRN=
FRZ—U0OR 24 FARRE
—fEA T T4 (90% 0.05/, 900 x 1,000mmiZRE 13,321 #A2E
—MATI& (T0% 0.04/Z, 700 x 800mmiZfE 22,700 MARFE
EMRTIE (TR 0.02/2, 320 x 380mmiZfE 6,268 HWAZE
EMRITIE (Th. B) 24, 320 x380miRE 3,200 MAREE

EHER KT v 0 RE 2 F 2 12,803.75 m
T v o R ET v ES T 825.13 ni
Hh=Ry ho == =S F20H 371.42 nf
HZRG ==y e F2Mm 3,436.80 ni
BEsU—=>7 288 HE 600.34 nd
774y RER £ BE 106 AT
T—ILER EWHIR F1[ 360.00 nd
BRREER e HE 3,264 AT
BN ST SR e BE —=
RHER AR 28 BE 1,344 &R

HE& Y ~ER

B s |@E

169.12 mi

JYRETy TER

B fitis |6

1E:750%

JYRE Ty TER Ctr F#FEE |F1[E 15:60%
MLAET L7y 75w Ct I=Z%E |F20[ —3
PKEER S BE —=




SERE - - 1W: 18EIC1E 1M :
2W: 2BRIC 1A 2M :
AM: 45 BIC1E 6M: 64 8IC1ME
SR
il E=E4 REE EREE HE
B | £
EhAEEREAERFR  [a1EQ0) =S 9.52 1D| 6M
A4y TRT-7ay bR 71.37 2D| 6M
BE®Er)(2) =S 4.80 O 2D | 6M
BB EFrEE RN 1.68 2D| 6M
A4y 7= " ZERY-b 25.65 2M| 6M
BRE " ZWERY-H 12.00 1D| 6M
NEE " ZpRY-b 12.00 1D| 6M
ZRED)Q) v ZhBRy-b 25.60 1D| 6M
597 BT " ZWERAAN 23.40 2D| 6M
F-A1-F- b ZVERAA 4.00 2D| 6M
B " ZERAAN 4.00 1D| 6M
L DI(3) " ZWERY-H 18.40 1D| 6M
Btk = ((R#E1Y7) £ bR~k 7.90 @) 1D| 6M
AE(REL)7) 24 9.12 -
TEYIRIEE (3) - S7 8.00 O 1D| 6M
Bt - Vv £ ZWBRAAN 10.50 1W| 6M
Bl RN 15.30 2M| 6M
ASE € 2RI 12.46 1D| 6M
BE 1E [ S 71.66 1D| 6M
N v)- E IRk 9.68 1D| 6M
ERE RN 7.80 1D| 6M
BFER(2) " ZRY-b 5.22 O 1D| 6M
ZFER(2) [ S 5.61 O 1D| 6M
SK= E ZhBRy-b 1.87 O 1W| 6M
*ﬁ:é(z) [ S 14.82 1D| 6M
REBRTRIZE() b ZERY-H 11.60 - |1y
% Ex§A<1)"’( ) [ S 66.00 - |1y
REZARNE b ZWERY-F 14.00 - 1Y
REEAMRERT =)z D 16.00 - | 1Y
REEB LAY R R 16.50 - 1Y
REZBHIE tohBRy-b 3.50 - | 1Y
REEBIRERT LAY R R 4.00 - 1Y
RE=C BV B 16.50 - | 1Y
REECHIE b ZWERY-F 3.50 - 1Y
REZECRERT BTV AYRER 4.00 - 1Y
REZETHZEQ) [=tl7 S 11.60 - |1y
PRE@3) =)z D 13.98 1D| 6M
BERE=E(1)~(4) b ZVERY-b 63.08 - 1Y
EETMIEWE =)z D 14.01 - | 1Y
HE EEAN)~(5) 72 61.68 - 1Y
RE fliA@iiFﬁ b IRy -b 9.48 - | 1Y
AE EEB b ZWERY-k 16.83 - 1Y
RE flﬁB@iiﬁﬁ SW b oMERY-b 3.96 - | 1Y
EE EZC(1)~(22) b bRy -b 248.70 1D| 6M
= AFi(l)(Z) £ ZWERY-b 74.08 1D 6M
?.EL\(Di%(Z) 72 9.36 1D| 6M
BFAE - KEEQ) b ZIERY-b 14.04 O 1D| 6M
BF R E (—MRTYT) £ IR~k 4.40 O 1D| 6M
BFERQ) b ZIERY-b 1.68 O 1D| 6M
BFAE(—MKIIT) a4 9.60 -
BREERERQ)(BF) |t ER-F 3.32 O 1D| 6M
SBFEA(L) [ SN 17.89 O 1D| 6M
SHEMAIRE (2) " ZERY-b 9.72 O 1D| 6M
,ﬁéu@iz%(l) (72 9.36 1D| 6M
ZFHEE - SRR t ZhERY-H 14.04 O 1D| 6M




SRR - - D:1HIC1[ME 1W: 18EIC1E IM: 145 BIC1E
2D:2HIC1E 2W 258 1E 2M: 248121
AM: 445 RBIC21E 6M: 64 8IC1[H 1Y: 1421
. - I HEBRBEDHE e | 77 | $BE

i3 EBPY 4 REE BiRmEE ML ED HE e NI

A EFAERREIHERER) | ZTFRKRECRKRIT) b ZWERY-F 4.40 1 O 1D| 6M
ZFHER3) E IRk 1.68 1 O 1D| 6M
ZFBE(—HIIT) 240 9.60 -
BREERERQ)(ZF) |t IER-b 3.32 1 1 O 1D| 6M
ZFER(L) £ bR~k 16.79 3 2 @) 1D| 6M
SEHIAIBE (1) v ZhBRy-b 9.72 2 | O 1D| 6M
EIRE £ bR~k 3.60 1W| 6M
EBETF1)~4) v ZhBRy-+ 337.60 1D| 6M
REZET (1)) £ bR~k 112.52 1D| 6M
e = BhEE BRI R 29.70 -
LZPN FhEE ALK 11.72 -
BEERE (1) v ZhERAN 31.20 1W| 6M
EV(3) £ bR~k 3.68 1D| 6M
Z 0t 129.17 -

1BEET| 1863.47

A % e R IR (B SRR ) AI=E(1) b 2Ry -F 9.52 1D| 6M
AR9TAT-yay t BRI 71.37 1 1 2D| 6M
BEm®Err1)(2) € IR~k 4.80 2 2 O 2D| 6M
BEERREE v ZIERAAN 1.68 1 2D| 6M
A%y 701 b ZhERY-b 25.65 1 2M| 6M
Bz £ ZhBRy-b 12.00 1 1D| 6M
WEBE t ZhBRy-b 12.00 1 1D| 6M
2R=E(1)Q2) £ ZhBRy-b 25.60 2 1D| 6M
A497EE T € BRI 23.40 2D| 6M
F-21-+- t ZhERAN 4.00 2D| 6M
hEEE € 2RI 4.00 1D| 6M
L DE(3) t ZhBRy-b 18.40 1D| 6M
R E ((R#E1YT) € IR~k 7.90 1 O 1D| 6M
B (fRE1)7) a4 9.12 -
SEALIRE (3) v ZhBRy-b 8.00 2 | O 1D| 6M
Bt - VAVE £ RSN 10.50 1W| 6M
BE € ZWBRAAN 15.30 2M| 6M
=740 b=h £ RSN 28.44 1 2M| 6M
RE. TIE E IRk 71.66 2 1D| 6M
N M- =)z D 9.68 1 1D| 6M
HASE € ZWBREAN 7.80 1D| 6M
BFEH(?2) =)z D 5.22 2 1 O 1D| 6M
B FEFT(2) £ IR~k 5.61 2 1 O 1D| 6M
SKz= =)z D 1.87 1|10 1W| 6M
BIZ=(2) £ IR~k 14.82 1D| 6M
REETHIZ(L) =)z D 11.60 - |1y
REZAL)~4) £ IRy -k 66.00 4 - |1y
REFANE b IRy -b 14.00 4 - |1y
REEARERT [ S 16.00 - 1Y
{RE=B BV B R 16.50 1 - |1y
REEBHE £ IR~k 3.50 1 - |1y
REEBRERT BV AYRER 4.00 - 1y
RE=EC ML R 16.50 1 - |1y
{REZCHIE b ZIERY-b 3.50 1 - |1y
REZECRERT BTV AV BR 4.00 - 1Y
REZETRIZ() b ZIERY-b 11.60 - |1y
PRE@Q) £ bR~k 13.98 1 1D| 6M
BREE1)~G) £ 2R~k 63.08 4 - |1y
BREZGE b ZVERY-h 14.01 4 - |1y
B EZ=AN)~4) " ZERY-b 52.04 4 - |1y
RE BEAMBRT b ZVERY-h 7.68 4 - |1y
fBE E=B t ZWERY-H 16.83 - |1y
WE BZEBERT. SW b ZWERY-F 396 | 1 1 1 - |1y
B2 EZ=C(1)~(16) t ZWERY-H 180.79 1D| 6M




SRR - - D:1HIC1[ME 1W: 18EIC1E IM: 145 BIC1E
2D:2HIC1M@E 2W 258 1E 2M: 248121
AM: 445 RBIC21E 6M: 64 8IC1[H 1Y: 1421
. . - e | ERBORE [ 77 [y BE
1R B EBPY 4 REE BiRmEE ML ED HE e NI
Al 2 |ZsemiR(BAsHRR) BE ARE(1)~(6) b ZVERY-h 216.79 1D| 6M
BLODE(1)(2) " ZhERY-H 18.72 1D| 6M
BFEE - KREQ) FUEMEL ZVERy -+ 14.04 5 1|10 1D| 6M
BFRRRE (—HRTYT) [ 7S2N 4.40 1 O 1D| 6M
BFEHA3) £ bR~k 1.68 1 @) 1D| 6M
BFaE(CHK7) a4 9.60 -
SEERERQ)(BF) |t 2Ry-b 3.32 1 1 O 1D| 6M
BFER(1) " ZWERY-H 17.89 6 2 O 1D| 6M
TEYIIRE (2) £ bR~k 9.72 2 | O 1D| 6M
ZFHE - REEQ) EZhERY -k 14.04 5 1] 0 1D| 6M
2 FBRRE (—AZTYT) £ bR~k 4.40 1 @) 1D| 6M
ZFER3) E IRk 1.68 1 O 1D| 6M
ZFBRE(—HIIT) 240 9.60 -
FEERER1)(ZF) |t 2R+ 3.32 1 1 O 1D| 6M
ZFERT(L) £ bR~k 16.79 3 2 @) 1D| 6M
SEMIIEER (1) € IR~k 9.72 2 | O 1D| 6M
EIRE [ S 3.60 1W| 6M
BT (1)~(4) € IR~k 337.73 1D| 6M
REZET(1)(2) t ZhBRy-b 126.13 1D| 6M
M eSS 29.70 -
REEZE (1) b VRN 0.00 1w
EV(3) b ZBRY-h 0.00 1D
Z Dt 159.12 -
2B&EH|  1939.90
A | ShEB |35 FEER(2)(3) Y-+ 73.80 1M
HNEREH(1)(2) EZ0 119.08 1M
an-7" (1) EVZUR 21.60 1M
An-7"(2) EVZUR 8.12 1M
7=y EZUR 44,52 1M
1pET 5 2(1)(4) =PIk 327.56 1M
1T 5 2(2)(3) EZUR 59.76 1M
gaEAO EZ0 7.28 1M
2p£752(1) TR 33.60 1M
SHEE(1)(2) FERFL BIF 39.00 1M
Rz 2 335.20 1M
RE Y 377Y-Mib 260.88 1M
HEREH| 1330.40
AEEFFONERE £ Y)| 3803.37




SERE - - D:1HIC1ME 1W: 18RC 1M 1IM: 148121
D:2HIC1[H 2W 28I 18 2M: 245 BIC1[E
AM: 445 BI121E 6M: 64 AIC1E 1Y: 1§21 [

. - e wrmEoEE | [ 77 [vos] EE
1% B P 4 RAE TEiREE MR HE o | » [B=T=m
B #HHG EVif-ll t LBy 28.56 1D | 6M

BE BRERE R EBR 15.76 -
V= B REIAE R B R 57.20 1 -
AEE B REIAE R B 126.90 -
KEE BRERE R EBR 3.36 -
TEE 240 58.52 -
TOEE 240 51.84 -
BHEEQ) 240 14.08 -
BRREE ' ZhERY-h 11.88 - | 6M
HRUNE B REIAE R B R 7.28 -
TRUNEE B A 440 4.65 1 -
REALYTI=1 b ZWERY-b 28.13 - | 6M
EEEE1)(2) tZERY-b 22.60 - | 6M
BFER(L) S ERY-H 2.40 1 1 @) 1D | 6M
7 FER(1) ' ZERY-H 2.40 1 1 @) 1D | 6M
IREE - BRE (RE\ERLYT) £ ZERY-h 22.02 - | 6M
REE - ERERNE [ SN 2.88 1 - | 6M
SPCz= [ SN 21.56 - | 6M
hE=E £ ZERY-h 16.90 1 - | 6M
SPCEF T £ ZERY-h 7.60 1 - | 6M
LZPN b ZVERY-b 2.53 - | 6M
FFEKRE(SPC) [ SN 6.15 - | 6M
ZFERE(SPC) Q) SN 6.60 - | 6M
BFER(2) D ERY-b 1.65 1 1 @) - | 6M
7 FHER(2) ' ZERY-H 1.65 1 1 @) - | 6M
hRBE £ ZERY-h 44.75 2M| 6M
BN -2 b By 12.30 1W| 6M
BB -2RIE £ ZhERY-H 6.00 1 1W| 6M
TR ERIAE b 2Ry~ 25.07 1 1W| 6M
TRV = BREIRE R EBIR 15.62 1 O 1w
HAFE VTR BREIRE R EBIR 17.60 -
KIARE BRUEIRE R EBIR 6.00 -
BRE B BB R PR 126.00 -
FHEWE BHEEZ KRR 78.57 -
TRE 7n-yvy’ 12.81 O 1IM| 6M
EREME 7n-yvy’ 6.15 1 O 1IM| 6M
[ BHEEZ KRR 6.00 -
GIE A BHEEZ KRR 6.00 @] -
t n74(1) BB R R AR 18.90 @) 2D
1 IE(ER) A RIS RBR 6.16 O 1w
1 IE(REA- TR - BETTY) R A RS 21.76 O 1w
41 BNBEBS, LS HhRRE Y 12.16 O 1w
EEF(1)~4) £ ZWERY-h 164.33 1D | 6M
BEER (1) £ ZERY-b 59.20 1D| 6M
BEER(3) £ ZERY-b 0.00 1W|[ 6M
EV(1) £ ZWERY-h 4.14 1D | 6M
EV(2) £ ZWERY-h 4.14 1D | 6M
Z Dt 60.97 -
1pEEH| 1239.73
B Une" Y | iR (BASEIETR) EVF-Il £ ZWERY-h 29.04 1D | 6M
Hetm = B EE RV PR 20.72 -
RERE(BAINY) £ ZERY-b 8.54 1D| 6M
’E £ ZWERY-b 67.95 2 1D | 6M
N M- ' ZWERY-b 13.60 1 1D | 6M
ERE VRS 12.33 1 1D | 6M
ERE SRS 11.50 1D | 6M
224t - VivE SRS 9.86 1W| 6M
EIRE £ ZWRY-b 3.20 1W| 6M
BE SRS 13.31 2M| 6M
A4yTAT-Y3Y b By 60.75 1 1 2D| 6M




$EE--- 1D 1HIC1[E 1W: 18RI 1M 1IM: 148121
D:2HIC1[H 2W 28I 1E 2M: 245 BIC1[E
AM: 445 BI121E 6M: 64 AIC1H 1Y: 14121
N - . BHERBOHE e | 7T | B
5 =i =5 Rt E EREE swiezlizln HE or | » [eml=m
B Uk Y | R (R SE IR 1ER) 249701 ' ZWERRAN 25.27 1 2M| 6M
BEEm(1)(2) ' ZhERY-b 3.60 2 O 2D | 6M
BEEmNE ' ZhERY-h 13.45 1 2D| 6M
BR= ' ZhERY-h 12.04 1 1D | 6M
NEBE ' ZhERY-h 12.04 1 1 1D | 6M
ZRE)(2) tZERY-b 24.08 2 1D | 6M
BREE(1)~) £ ZWBRY-H 53.80 4 - |1y
BREZENE £ ZWBRY-H 13.44 4 - |1y
BREZET ' ZhERY-h 51.39 1D | 6M
BE FE=EC(1)~(4) ' ZhERY-h 51.76 1D | 6M
RE 4RE(1)~(4) ' ZhERY-h 171.15 1D | 6M
7708 v (1)(2) £ ZWBRY-H 131.09 1D | 6M
BAF(1)~(4) ' ZERY-H 10.00 4 @) 1D | 6M
HEEE(1)~(2) ' ZERY-H 750 2 @) 1D | 6M
BFEmE - HRE BRy-H 12.40 5 1|10 1D | 6M
BFEE - REENE b ZWERY-b 2.90 1D| 6M
BF{ERT £ ZERY-h 15.40 6 2 @) 1D | 6M
% BIERT £ ZBRY-H 4.00 1 1 @) 1D | 6M
NEBRRE, WC £ ZERY-H 15.74 1 1 @) 1D | 6M
NERE b 2Ry~ 18.15 -
BE 240 18.15 -
Bik=E 240 14.34 1 @) 1D | 6M
IR EERT £ ZBRY-H 1.40 1 @) 1D | 6M
TBYALERE b VY- 6.65 2 O 1D| 6M
RFHRE - RE ' ohERY-h 12.40 5 1|10 1D | 6M
LFE - REERE b 2Ry~ 2.90 1D| 6M
ZFAER £ ZERY-h 15.40 3 2 @) 1D | 6M
EETF(1)~4). (6) E oERy-b 222.54 1D| 6M
B b oEREY-b 3.84 -
REE% (1) ' ZERY-b 0.00 1D | 6M
REEZ(3) £ ZWERY-h 31.68 1W| 6M
EV(1) £ ZWERY-h 0.00 1D | 6M
EV(2) £ ZWBRY-h 0.00 1D | 6M
EEHRIELZ b Ry IRT-y 3y £ Ry~ b 35.52 1 1 1D| 6M
+-21-+- ' ZERY-b 8.97 1 1D | 6M
BR=E ' ZERY-b 9.31 1 1D | 6M
NBE £ ZWERY-h 9.50 1 1 1D | 6M
Uiv[E ' ZERY-b 0.90 1W| 6M
B £ ZWBRY-h 0.85 -
AIE £ ZWERY-b 10.32 1 O 1D | 6M
HE ' ZERY-b 9.60 1D | 6M
7 bt ohEREY-h 4.20 -
7PN v ohEREY-b 4.00 -
EFBHERAE £ ZWERY-h 61.07 1 1D | 6M
R E £ ZWERY-b 39.19 2 1D | 6M
ABR=E £ ZWERY-h 9.05 1D | 6M
EREE £ ZWERY-h 7.32 1 1D | 6M
ERE £ ZWERY-b 4.30 1D | 6M
fERT £ ZWERY-h 1.80 1 1 @) 1D | 6M
SEYALIEER £ ZWERY-b 3.85 2 | O 1W| 6M
B AER £ ZWERY-h 4.46 1 1 @) 1W| 6M
HeE-f- £ ZWERY-b 252 1D | 6M
B L £ ZWERY-h 1.20 1 1D | 6M
BEEF VI b ZVERY-b 1.60 1D| 6M
BE 240 3.40 -
Bk £ ZRY-b 217 -
BE-HEE tZERY-H 174.55 1 1D | 6M
1B=(1)~(8) £ ZhERY-b 118.36 7 -
B=ERT £ ZWRY-b 14.03 8 1 -
8= (3)SW b oERY-h 130 | 1 -




$EE--- 1D 1HIC1[E 1W: 18RI 1M 1IM: 148121
D:2HIC1[H 2W 28I 1E 2M: 245 BIC1[E
AM: 445 BI121E 6M: 64 AIC1H 1Y: 14121
e Eidi =4 L EREE ﬁim’%@ﬁﬁ e I mg
SW | &35 | m | 7 s ol g% | B8
B| 2 |EESZRE1vH Z Dty 49.93 -
2BkEH| 182257
B| 3 [unt'VIlymEkE(EmE) EViF-Il LBy 27.72 1D| 6M
A= Bh B R RHE R 24.09 -
RE LBy 67.95 2 1D| 6M
N M- £ ZWBRY-H 13.60 1 1D| 6M
AEE LB 12.33 1 1D | 6M
HAEE LB 11.50 1D | 6M
B4t - Vv £ ZVERSAN 9.86 1W| 6M
ERE £ ZWBRY-H 3.20 1W| 6M
BE LBy 13.31 2M| 6M
A497IAT-Y3Y LB 60.75 1 1 2D| 6M
A4y 7h=h LB 25.27 1 2M| 6M
BEEm(1)(2) £ ZhERY-b 3.60 2 O 2D | 6M
BEERE SRR 13.45 1 2D| 6M
BRE LBy 12.04 1 1D| 6M
NEBE b By 12.04 1 1 1D | 6M
ZRE)(2) E oERy-b 24.08 2 1D| 6M
BRER1)~O) £ ZERY-H 39.95 3 - |1y
BREENE b ZVERY-b 10.08 3 - | 1y
HREEET b ZVERY-b 35.32 1D | 6M
BE E=EC(1)~(11) £ ZERY-h 136.47 1D | 6M
JRE ARE()~(9) £ ZBRY-H 306.63 1D | 6M
7 =7 ¢ v (1)~ (5) £ ZERY-h 297.27 1D | 6M
fERT(1)~(10) D ERY-b 25.20 10 @) 1D | 6M
HE=E(1)~(5) £ ZhERY-b 15.48 5 O 1D| 6M
STE - HRE Q) SN 12.40 5 1|10 1D | 6M
BFkE - FBREME b ZVERY-b 2.60 1D| 6M
BF{ERT £ ZhERY-H 15.40 6 2 @) 1D | 6M
% BHERT £ ZWERY-b 4.00 1 1 O 1D | 6M
BURE G4 31.68 -
BLABRKRE £ ZERY-b 16.40 1 O 1D | 6M
BB REET b ZVERY-b 2.80 1 @] 1D| 6M
SEYLIEE ' ZERY-b 6.93 2 | O 1D | 6M
RFHE - RE ' ZERY-b 12.40 5 1|10 1D | 6M
LFHE - HRERE b ZVERY-b 2.60 1D| 6M
ZFHER £ ZWBRY-h 15.40 3 2 O 1D | 6M
BT (1)~(6) £ ZWERY-h 254.18 1D | 6M
REE% (1) ' ZERY-b 0.00 1D | 6M
REEZ(3) ' ZERY-b 0.00 1W| 6M
EV(1) £ ZWERY-b 0.00 1D | 6M
EV(2) £ ZWERY-h 0.00 1D | 6M
Z Dt 134.96 -
3REET| 1712.94
B 4 |3%& AN/ E LAy EREERA K 10.24 -
BEER (1) £ ZERY-b 0.00 1W|[ 6M
Z Dt 62.65 -
72.89
B | HMEB | 2@ =240 ay)- 6.00 1M
REER (4) RIS 29.76 1M
£ n74(1) EZIEN 72.16 1M
£ n74(2) TAT7IE 26.00 1M
2RE772(1)(2) EZIEN 106.20 1M
2B£752(3) EMZURN 16.64 1M
2BE752(4) EMZURS 16.04 1M
2B£5752(5) EMZURN 22.68 1M
SHBE(1)~(4) Bt 93.64 1M
RFEY /7= Mts 218.76 1M
Une yn -5y 2 699.88 1M
S\EBET| 1307.76
BiE&Et(AN & £¥)| 4848.13




$EE--- 1D : 1HIC1E 1W: 18RI 1M 1M: 14581
2D :2HIC1[A 2W : 258218 2M: 24 BI21[\
AM: 445 BI21R 6M: 64 8I1C1R 1Y: 1411

N - N HEBBOEE ww | 7T || BEE
EBPY 4 REE BiRmEE ML ED HE e NI
AN VERFI BEBRE (N Y) BMFER 27.84 1D
I/ b AR-I b ZVERY-b 85.14 O 1D| 6M
=t £ 2Ry -k 5.84 - | 6M
BEE € bR~k 5.27 1 @) 1W| 6M
A%y 70=h v ohBRy-b 74.35 1 1 O - | 6M
ZBAM=E(1) In-uyy’ 80.27 1 O 1W| 6M
ZBMNE(2) I0-yyy’ 83.20 1 1 O 1W| 6M
ZBEM=EQR) In-yyy’ 60.52 1 O 1W| 6M
BFER(2) v ZhBRy-b 6.76 3 1 O 1D| 6M
ZFHHER(2) £ bR~k 6.76 3 1 @) 1D| 6M
W) G IR EE ARSI 31.78 2M
I==E (BF1-r-88) |78-077 76.92 1 O 1W| 6M
13227 4-F-W v ohBRy-b 96.30 3 O 1D| 6M
REBE € bR~k 40.20 1D| 6M
M= B, —BEPIR 20.68 1 O 1w
MEHA b IRy -F 1.00 1W| 6M
mEE(1)(2) LY ENETS 22.36 O 1W| 6M
nyh-= t ZhBRy-b 16.77 1D| 6M
So#a-f- bRy 9.24 1D| 6M
BFEA(L) £ ZhBRy-b 14.87 6 2 O 1D| 6M
ZFEF(L) t ZhBRy-b 14.87 3 2 O 1D| 6M
BREEER t ZhBRy-b 4.00 1 1 O 1D| 6M
ETF1)~(3) E ZhBRy-b 127.12 1D| 6M
BT (4) £ ZhBRy-b 148.16 1D| 6M
L 2 FhEE LR 23.56 -
B E% (1) b VRN 27.76 O 1D| 6M
EV(4) E ZhBRy-b 3.25 1D| 6M
Z Dt 55.75 -
1B&st| 1170.54
AL VERFT ARz ARSIt E-n =)z D 49.25 O 1D| 6M
BRELEE E IRk 26.05 1 O 1D| 6M
BFERT =)z D 7.92 2 1 O 1D| 6M
2 FERT E IRk 7.92 2 1 O 1D| 6M
HHRE =)z D 16.56 O 1W| 6M
7 0y FhEHE £ IR~k 25.90 O 1W| 6M
EEEEE(1)(2) =)z D 100.58 2 O 1D| 6M
HME (1) BhEE BRI R 9.28 -
EBT1)(©2) =)z D 32.60 1D| 6M
ET(3) € IR~k 67.96 1D| 6M
BEER (1) =)z D 0.00 O 1D| 6M
EV(4) £ bR~k 0.00 1D| 6M
ENERE SEH1y b 2E E VBRI 12.96 1 O 1W| 6M
BiRE b ZWERY-k 6.27 1W| 6M
Bt - V3VE £ RSN 7.46 1W| 6M
2497273 (1) £ ZWERAAN 4451 1 1 O 2D | 6M
21 b oMERY-b 7.94 2M| 6M
BEER(1)(2) £ bR~k 3.60 2 2 O 2D| 6M
BEERrEE b ZIERY-b 1.80 1 2D| 6M
A497h-4(1) £ bR~k 25.98 1 2M| 6M
2R=(1) b ZIERY-b 12.00 1 1W| 6M
B b ZWERY-k 12.00 1 1W| 6M
e b ZIERY-b 12.00 1 1W| 6M
BRERT b ZWERY-k 29.33 1W| 6M
BREE " ZERY-b 14.08 1 - |1y
BREZGE b ZVERY-F 2.88 1 - |1y
1R#=ED t ZWERY-H 14.14 1 - |1y
REEDRIE £ IR~k 2.88 1 - |1y




SRR - - 1W: 18EIC1E 1M:
2D:2HIC1 2W: 2@/ 1A 2M: 24 BI21
AM: 44 BIC1E 6M: 64 AIC1E 1v:1
=%, FRft £ ERERE ’
RE EEA b ZVERY-b 10.32
B = AR " ZhERY-b 2.52
WE EEC)~3) b ZBRY-h 36.63
RE ARE(1)~(3) £ 2R~k 109.53
ABRE(Q) a4 7.50
BFEA(L) b By -H 13.66 @)
AT (3) b By -b 11.00 @)
%Bﬁ%ﬁﬁ@fﬁ(l) b By -H 6.24 @)
BTF%mE - RE() b By -H 13.95 @)
A1 (2) £ 2Ry -k 10.08
BraR (1) b By -H 9.80 @)
BRREML b By b 2.16 @)
BE() a4 10.97
;ﬂ%kﬁ%( ) b ZVERY-h 8.40
LZFHEE - FRE) b ZVERY-H 11.70
Ar=E(1) E IRk 10.08
ZFERr(1) b ZbERY-k 11.15
Ny b oWERY-b 6.25
BE(1) [ 44 64
& T (4)(5) [ 14436
M= (2) FhEE R RH B R 23.20
ZREQ)@3) E IR~k 25.08
289737-v37(2) b ZVERAAW 27.84
A4y 7-4(2) E IR~k 30.91
HHRE-BRE b ZVERAAW 18.00
BFER(2) t ZhBRy-b 8.62 @)
5'%%@5@?%%; £ ohERY-b 8.71 @)
BT%AE - RE(2) b By -b 12.11 @)
BFRRARE [ S 5.28 O
BTAE 240 8.00
SEIRIRE (2) b ZERY-k 4.40 O
BEFEEE [ S 23.66
N yM-(2) b By -H 7.80
BE(2) £ ZWERY-b 51.60
7 A=k £ Ry -h 116.90
BE(2) £ ZWBRY-b 15.55
ZFHER(2) £ IR~k 12.04 O
BIZ=(4) [ S 2.40 O
LZFHEE - FEEQ) b oWERY-b 10.72 O
LTFRIRKE b 2Ry -H 5.60 O
BFABE a4 11.61
SE#E FAER(2) E IRk 4.00 @)
RFEER £ IR~k 23.63
BERE2) 240 8.64
HE EECA)~(T) 72 52.96 O
BE 2BRE(1)(2) b ZWBRy-h 33.70 O
BE ARE(4)~(7) b ERY-F 150.71 O
BT (9)~(11) £ ZWBRY-b 135.70
Z oM 284.42
2BEEt| 2158.58
B RE Y /7Y~ Mib 315.88
|HR2fE -+~ pan i 10.40
Unt Y ELBRZ SED B 80.68
SEBE(1)~(3) BJIRF) 116.32
UnE UB -7y 1v9Y-Mts 687.32
77 2(1) )=+ 9.60
77 2(2) )=+ 44.00
ENREE AR & 1286.00
AEREH| 2550.20
CEART(NEEEY)| 3329.12




$EE--- 1D 1HIC1E

1W: 18I 1E

IM: 145 AIC1[E

2D:2HIC1ME 2W 258/ 1E 2M: 248121
AM: 45 BIC1E 6M: 64 8IC1ME 1Y: 141C1[E
. - N HEBBOEE e | 77 || BE
B E=EA KL BIREE M ED HE b n [B&E] =8
ASRERPT BBREEHAD) ANFEER 24.00 1D
HNERRE AMFR 26.88 1D
ARBFEI-F- v ohBRy-b 8.19 1D| 6M
HHHE(1)~(3) 24Wp-n"y b 36.12 O 1W| 6M
hRF AR v ZhBRy-b 132.00 O 1D| 6M
BERMNE € BRI 50.14 1 1W| 6M
ED v ZhBRy-+ 86.57 1 2W | 6M
ERBEIBFIT- b BRI 3.49 1D 6M
EERFREEE v BRI 34.79 O 2W | 6M
NRfFE £ bR~k 150.66 1D| 6M
NkpEZA v ZhBRy-b 15.00 1 O 1W| 6M
WBBRE £ bR~k 15.00 1 1 O 1D| 6M
2RE(1)~4) v ZhBRy-b 60.18 4 O 1D| 6M
HITLAE £ bR~k 13.90 1 @) 1D| 6M
EE(5) b ZbERY-k 9.28 1D| 6M
BEE £ ZhBRy-b 6.30 2D| 6M
BEEBER € IR~k 5.17 1 1 O 1D| 6M
B FER t ZhBRy-b 14.16 5 2 O 1D| 6M
2 FERT € IR~k 9.96 3 2 O 1D| 6M
REDEPARSE £ ZhBRy-b 50.61 1D| 6M
REDERNARZMHE | IRY-F 13.16 1W| 6M
REBEMALREZ(6)6)(7) | ZMky-t 45.62 3 O 1D| 6M
DRSS € IR~k 40.15 1D| 6M
DIEBEEIREE(1)(2) £ ZhBRy-b 30.00 2 O 1W| 6M
FREEEE € IR~k 28.16 1 O 1D| 6M
BE t BRI 12.60 2M| 6M
ARy =L v MRy -F 26.55 1 - | 6M
Bz =)z D 6.24 1W| 6M
IDEET LA-1 Wp-~"y b 35.64 1 O 1W| 6M
DIBT U-LETE =)z D 5.72 1D| 6M
BEREQ) (BEBNE) | BN 7.37 1D
@R (3) =)z D 3.60 1 1 @) © | 2D| 6M
RIRE = E IRk 39.54 1 1 1 O 2D| 6M
HERERER =)z D 16.97 1 O 2D| 6M
EIBREE £ IR~k 18.72 2D| 6M
PRERE t ZhERAN 33.12 1 O - | 6M
BABE(2) (A - &R - kB B 7.80 1D
aNEEE [ S 5.29 1D| 6M
fERT(4) £ ZhERY-F 5.28 1 1 O 1D| 6M
HBPRE =)z D 29.99 1 1 1D| 6M
TR R ERE 4~ b ZVERY-F 13.17 1 1 O 1D| 6M
KRl AR @A |0 ZuBRy-F 1.85 1 O 1D| 6M
fRIRE. SW £ IR~k 252 | 1 O 1D| 6M
XIRIBEE b oMERY-b 40.08 2D| 6M
XERIRIFE - BHE b ZVERY-h 17.97 1 2D| 6M
F 47 IXERE b oMERY-b 2.40 2D| 6M
DPATHEEE b ZVERY-h 7.68 1 1D| 6M
BFHEERT b ZIERY-b 4.49 2 1 @) © | 1D| 6M
2T EERT £ IR~k 7.04 2 1 @) © | 1D| 6M
SKz= b ZIERY-b 1.00 1|10 1W| 6M
BT 1)~(7) [ SN 144.73 1D| 6M
EE T (8)~(10) b ZIERY-b 141.97 1D| 6M
EETF(11) £ bR~k 106.53 1D| 6M
BEER (1) " ZERY-b 11.18 1D| 6M
Z Dt 4351 -
1B&st| 1710.04




$EE--- 1D 1HIC1[E

2D :2HIC1E

1W: 18EIC1E
2W 28I 1[E

1M: 145 AIC1[E
2M: 24 RIC1[E

AM: 445 RBIC21E 6M: 64 8IC1[H 1Y: 1421
$EE
) RtE EREE
B | 5
EIRERFT =H5B £ ZWERAAN 64.83 O - | 6M
H—N—= b RS 8.57 - | 6M
W= £ bR~k 7.60 1D| 6M
EHRRE LY NS 20.06 1 O - | 6M
BERRE 24Wp-n"y b 19.57 1 O 2M| 6M
INEE LY NS 21.91 1 O 1W| 6M
REE 2AWH=A" g b 22.03 1 @) IM| 6M
EERARE v BRI 17.19 1 O 2M| 6M
EED € BRI 80.07 1 @) IM| 6M
ESEES v ohBRy-b 17.90 O 1D| 6M
BEAM Y E R R k-1 - £ bR~k 2.90 1D| 6M
BERERE 21 SN 26.48 O 2M| 6M
RER- &= (1)(2) = 25.82 O 1D
IRER - REE A v ZhBRy-b 2.00 1D| 6M
BEEE LYIENET 15.08 - | 6M
ZFERHNE E IR~k 22.40 1W| 6M
TFERE £ ZhBRy-b 101.68 1D| 6M
ZFRRI-F-(1)(2) b ZVERY-k 5.72 1D| 6M
BFERHE t ZhBRy-b 6.80 1W| 6M
BFERE E IRk 35.96 1D| 6M
BFRRRI-F-(1)(2) £ ZhBRy-b 4.80 1D| 6M
M= BhEE LB 56.85 -
NEERE1)~Q) t BRI 97.52 O 1W| 6M
REE € BRI 40.68 1 O 1W| 6M
ME= t ZhERAN 58.47 1 O 1W| 6M
EREREEE b ZVERAAW 35.70 1 1 O - |1 6M
BE#E FAERT t ZhBRy-b 3.60 1 1 (@) O | 1D| 6M
B FERT € IR~k 10.08 3 1 @) © | 1D| 6M
7 FERT =)z D 10.08 2 2 @) © | 1D| 6M
EETF1)~(3) v ZhBRy-b 144.48 1W| 6M
BT (4) =)z D 21.50 1W| 6M
ET(5) £ IR~k 134.92 1D| 6M
BEER (1) =)z D 0.00 1D| 6M
Z 0t 43.86 -
2BEEH| 1187.11
A RE Y 377Y-Mib 357.94 1M
BEANEEAD EAW 8.96 1M
Ha - mE-REBE H AL AL 8.96 1M
| RR)E 1-F- EAW 11.56 1D
FHAO s 68.00 1M
FEE(FEE)(1)(2) B 228.72 1M
ShERET|  684.14
DA (AERE £ 9)| 2897.15




$EE--- 1D : 1HIC1[MA 1W: 18RI 1E IM: 145 AIC1E
D:2HIC1[E 2W : 2:8fIC 1 2M: 24 BIC1[E
AM: 4458218 6M:64A8I1C1EH 1Y: 1%E(C1FH

" - . [ BEBREOHE i | 77 | SHE
5 EBFY E4 RIEE BIREE MERAEEED HE o | v [l es
1 |BEFE. BB FelE £ VBRI 24.96 1 -
S 78-Y7y" 60.96 O -
&R t DRy~ 2.00 1 -
fERTRIZE 78-Y7y" 2.00 1 -
BB EEUEIE R R 11.85 1 -
RRE b ZVERY-b 4.32 -
BEE VRSN 13.12 2 1 -
BEEE £ VRSN 2.52 -
EET (1) b ZERY-H 58.79 1D| 6M
Z Dty 22.10 -
1p&&Et 202.62
BIREBPT ERRE() AV —ERHENE 6.96 1D
DEE sMZA 99.20 O 1W| 6M
BB (1) b ZVERY-b 52.80 1D| 6M
Z Dty 14.72 -
2B&ET 173.68
HiE 7 9¥TIA BREEART vt 139.32 M
R Ef i 302.62 M
K Efh 2] 393.75 M
S EBET 835.69
EfR&st(A & £9)| 376.30
$ERE D:1HIC1[H 1W: 1:EMIC1E IM: 14 AIC1E
2D :2HIC1[E 2W: 2581 2M: 245 Bi21[g
AM: 445 RBI21E 6M: 64 BIC1[E] 1Y: 1&#(21H
N - [ BEBREOFE e | 7T | SR
Z8P9 EZ RIEE EIREE MR ED HE P IO p=rey e
AU YERPT FBEEERKRE BMFER, t 2R 7.80 1W| 6M
EEEET(1)(2) b ZIVBRY-b 67.91 1W| 6M
[ZN=:) ViRMZA 400.00 1W| 6M
B BB E BRI R R B R 31.69 -
BFBEKRE b oVERY-b 16.72 | 2 1 1W| 6M
TFEKRE b ZRY-F 2024 2 1 1W| 6M
&Err(1)(2) b oVERY-b 4.40 2 2 O 1D| 6M
% BHERT b ZRY-F 5.20 1 1 1 O 1D| 6M
TBiRE b ZVERY-b 2.20 1W| 6M
PCBEJE b ZRY-F 12.04 - 6M
BB (1) £ LBy -h 24.64 1W| 6M
Z Dfth 17.85 -
1R&EH|  610.69
AU VEBFY RBEE&(1) b ZVERY-F 0.00 1W| 6M
Z DOty 22.94 -
2Bt 22.94
Hi@ REY M 179Y-Mib 156.24 1M
S EBET 156.24
FE&EH (A& ET)| 633.63




$EE--- 1D : 1HIC1[MA 1W: 18RI 1E IM: 145 AIC1E
D:2HIC1[E 2W : 2:8fIC 1 2M: 24 BIC1[E
AM: 4458218 6M:64A8I1C1EH 1Y: 1%E(C1FH

. N - e | BEBEOEE [ 77 o] BE
55 #RF9 E4 RIELE EIREE MR ED HE b NI
1 | B RERPS KE(REAREAND) GNEER 18.94 1w
BELEFED 0=y’ 12.92 1W| 6M
ERE G- IVE) £ LRy -h 9.57 1 @) 1W| 6M
BEE £ ZWBRY-+ 52.29 1W| 6M
Eg=F A BB MW 10.80 1W
BEmBT1) £ MRy -b 18.90 1W| 6M
BEFRED)(Q) AAWH=~" 5 b 10.12 2 1W| 6M
BiRE. SW ' ZVERY-b 288 1 1D| 6M
SKZ(1)(2) E ZLpRY-b 2.66 2 1W| 6M
8 B TERT £ MRy -b 4.49 2 1 1D| 6M
B 8 % FERT ' ZLpRY-b 6.20 2 1 1D| 6M
REE LI ENED 38.10 1 @) 1W| 6M
REERE EZERY-h 2.88 - | 6Mm
BHERMRELER) 240 14.56 4 2 1D
ZHERT(REAEER) 440 13.40 3 2 1D
GiEERER(REAER)|C MR-+ 4.40 1 1 1D| 6M
s EE RN 22.06 @) 1W| 6M
REERIE ' ZVERY-b 46.44 1 @) 1W| 6M
BR=E LRy -h 42.52 1 @) 1W| 6M
BAERE LRy -b 15.82 1W| 6M
SEAMT - AT In-ysy 47.80 1 @) 1W| 6M
AT - BT ZE £ ZWERY-b 12.89 O 1W| 6M
hEEHHE(1)~Q3) 0=y 116.31 O 1W| 6M
RiEEH%=E £ ZVERY-b 15.05 1 @) 1W| 6M
A b ZwBRy-H 2.52 - | 6M
FE=8My 2 20.15 @) 1W
FIEZN tZMERY-b, 78-U0) 4.32 1W| 6M
Felb 240h-~" b 103.95 @) 1W| 6M
INFERHE -y . B 37.74 O 1W| 6M
EETF(1) VAR 122.70 1W| 6M
EET(2) 0=y 8.48 1D| 6M
= PHER BRI LR 10.08 -
Z 0t 16.34 -
1pEEt)  868.28
S Bt 772(1)(2) = ZUE 64.24 1M
RFE b 9Y-Mt 191.52 1M
2BEEt|  255.76
GEEAET(MBE £ T)| 868.28
e 8PS =4 SRt E wpEE | ROER | | 77 v BE
SW | @25 | km | AL oA ol g | 5
AR | BE BRI R B R 30.10 -
Ereig - Binis 7A77Ib 138.00 1M
ENBE Y-k 72.00 -
TEAE BRI 2 7.05 -
AREHEE Y-+ 46.20 -
H LB E A 16.22 -
EVEBT Y-k 99.17 1w
7= UIERR 360.00 1w
Ry RE Y-+ 8.80 -
Z Dt 24275.89 1M
fb5t| 25053.43




